1

3/8 x 6 SS LAG BOLT

3/8 SS LOCK WASHER __|

3/8 SS FLAT WASHER
4 PLACES

Section A-A
UTP42 and UIP42
Lag Mounting

2. DEBURR AND BREAK ALL SHARP EDGES

2 x4 Top Rail

2 x 2" Blocking

° 42.000

3/8-16 SS NUT

3/8 SS LOCK WASHER
3/8 SS FLAT WASHER
8 PLACES

8.
S THREADI D

Section A-A
UTP42 and UIP42

SBP25-5

SIMPSON U26-2

1. PACKAGING REQUIRED WHICH WILL AFFORD ADEQUATE PROTECTION
AGAINST PHYSICAL DAMAGE DURING HANDLING, SHIPMENT, & STORAGE

NOTE:

#10 x 1" SS TRANSFORMER TOP RAIL SCREW

#10 x 2" SS BLOCK RAIL SCREW
12"0C

Section B-B
UTP42 and UIP42

DBL 2x6 JOIST
OR BLOCKING

THIS DRAWING IS PROPERTY OF STAINLESS CABLE SOLUTIONS LLC. AND IS SUBMITTED IN CONFIDENCE
FOR USE IN CONNECTION WITH AN EXISTING. PENDING, OR FUTURE TRANSACTION BETWEEN US.
THIS MATERIAL SHALL NOT BE REPRODUCED OR PUBLISHED IN ANY FORM OR DISCLOSED TO ANYONE
OUTSIDE YOUR EMPLOY WITHOUT PRIOR WRITTEN CONSENT OF STAINLESS CABLE SOLUTIONS LLC.
THE SUBMISSION OF THIS DRAWING IS NOT INTENDED TO CONSTITUTE PUBLICATION OF SAME.

REVISIONS

REV DESCRIPTION DATE

APPROVED

— — - 1

N N

I \#10 X 2" SS BLOCK RAIL SCREW

! 3/8 x 3" SS LAG BOLT
| 3/8 SS LOCK WASHER

3/]5 IAT WASHER

2x6 JOIST
OR BLOCKING

Section C-C
UP42

DIMENSIONS IN METRIC (MM) DRAWN DATE
NESS OTHERWISE S. PENCE 22612012 gcg STAINLESS CABLE SOLUTIONS Lic.
SPECIFIED 5 ‘ 5 2160 LONG ST. WEST, OR 97068
X ‘10 CHECKED PHONE: 503-830-2123 FAX: 1-866-496-9673
X +05 TITLE:
XX +.10 oA ITLE:
SRS Anchor Assembly
MATERIAL wFe SIZE [ PART NO, REV
FINISH: APPROVED A
: o1y | [ 2or2

4




